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The railway made it possible to|carry goods and people overland for long
distances at high speed. Railways were first built in Great Britain and in the
19th century, as the Industrial Revolution developed, the railways were the
most important and fastest growing form of transport.

There were railways long before there were railway engines or “locomotives”.
As early as the 16th century, wagon- ways made of wooden rails were used to
convey wagons loaded with coal from the mines in Durham and
Northumberland in Northeast England. It was found that horses could pull
heavier loads along a smooth track than a rough road. Later, Iron plates were
used to protect the wood and around 1800 L- shaped rails came into use for
guiding the wagon wheels. These “plateways” and “tramways” were also used
in South Wales and it was there in 1804 that the Cornish mine owner Richard




Trevithick worked on a steam locomotive able to pull a load of 20 tonnes (22

U.S tons). With the development of the steam engine, the way was open for the
start of the railway age.

14- The word “convey” in the 2nd paragraph is closest in meaning to ............... .
1) carry 2) stretch 3) control 4) follow




